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. This question booklet is divided iny,

two sections — Section-A ang
Section-B.

In Section-A,
70 objective type questions, out
of which any 35 questions are to
be answered. If more than
35 questions are answered, then
only first 35 will be evaluated
Each question carries 1 mark. For
answering these darken the circle
with blue / black ball pen against
the correct option on OMR Answer
Sheet provided to you. Do not use
whitener / liqguid / blade / nail
etc.. onn OMR Answer Sheet,
otherwise the result will be
treated invalid.

there are

. In Section - B, there are 20 short

answer type questions, each
carrying 2 marks, out of which
any 10 questions are to be
answered. Apart from these, there
are 6 long answer type
questions, each carrying S marks,
out of which any 3 questions are
to be answered.

Use of any electronic appliances is
strictly prohibited.
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@YZ - ¥ / SECTION - A
Fxqfars uya Objective Type Questions

vy N ] § mrfa»%mmaiiwzwfamwfwwé faemr # 7@
W?JMWﬁwﬁf&mﬁoﬁmyﬁzw%ﬂaarnfﬁﬂ
aqmmma; 35 x1 =35

Question Nos. 1 to 70 have four options. out of which only one is correct

You have to mark your selected option, on the OMR-Sheet. Answer any

J5 questions. Iax =35
] N F1 W@ e A fe R

A, W / diz (B) FAmM < M

() et / geim D) A W T

Unit of linear charge density is

(A}  coulomb/metre (B) coulomb x metre

(C) metre/coulomb (D)  none of these
2 3ga g3 & dww #1 fofle g3 @@ 2

(A) [ MLT A" (B) [MLT3A !

(C) | MLT 3A] (D) [MLT3A™!)

The dimensional formula of intensity of electric field is

A) [ MLT AT (B) [ MLT Ay
)y | MLT *A) (D) | MLTA
T [A/ANIES003 wivea] Page 3 | 3.
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8 FHM W Ay # IR e # g6 B
(A)  s5x10' B) 2-5x10"

€ 128x10" D) 16x 10"

Number of electrons present in 8 coulomb negative charge is

(A) 5x10'° (B) 2-5x 10"

(C) 12-8 x 10!9 D) 16x10"

S5 FEH % 2 sueR qyr vt @Ay R 50 A PP R W@ ™ B W
Fremra 1 g T st 2

(A) S5x102 gam-ftx  (B) _25x%10 72 HAW-HIiX

(C) 1 FAE-HIR Dy I

Two equal and oppesite charges of 5 coulomb are kept mutually at
a distance of 5-0 cm. The electric dipole moment of the system is
(A) 5 x 10 2 coulomb-metre (B) 25x 10 2 coulomb-metre

(C) 1 coulomb-metre (D) zero

a1 % SR TS % 98 A A F g A I W Aga &

(A) H B

(B) wedl?

©) o @ wa & fa g W

(D) TaA A T 2
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On

Ct:m:t::'m fom the surfuce of a charged metallic sphere 10 the
the Sphere, the electric field

{A) d“‘ﬂ:asca

(B) INCreages

()

"Mmaine
NS same gy al the surface

D
D) zero a all places

T = '
N “*m"&ﬂ?ﬁﬂﬂ%!lmwﬂfﬁawa@awﬁm
q/e,

-

B)  2q/¢,
(C)
g€ (D) =

n electric dj i i
poles are Situated- in g closed surface. Total electric flux

coming out from closed surface will be

A)  q/e, B)  2q/¢,
(C)  nqg/ € ' (D)  zero
ﬁzeﬁaﬁhﬁﬁ%gafaga%m%gﬂﬁmﬁm%
€ A (D} ¥

In broad-side-on position, the electric potential due to electric

dipole is
=L B -2
Tt T €y r
(C)  zerao (D) infinite
24/ AXIE D003 131140 Page 5 / 32
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(117
U& FERT 5 diee faNara As it fan sl 81 getgea gr w1t wa
i

A) 5= (B) 5 gelagiA-dlee

(C) 53t (D) S5aw

An clectron is accelerated to S volt potential difference. The cnergy

gained by the electron will be

(A)  Sjoule (B) S5eV

(C) Serg (D) S watt

orega &= (B qen fora fava (v) % o ey 2

o oe(@) OB a(g)
@ =@ %7 e ()

The relation between electric field ( E ) and electric potential ( V) is
w = (4Y ® 2=-(%)

(C) E-= (9&?) (D) E-= (d—{,)

r @ W Q Ay el @ W e 6 dge Rl st s
Rt 2

(A)s r* B r %

) r*% (D) T 8 F T

24 [A [ X1I-5003-(31/40)
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The
clec . : . o
clrostatic energy of 1he system made by twa clectric dipoles

kept a ] i
Pl at a distance ' 1 ig proportional to

Ay 2 B 5
© (D)  none of these
1. T e o 3
(A) R sEw W (B) dwa-aF & dear #
(©) @ witen = (D} JYd FA B
Picofarad is the unit of
(A)  electric charge (B) intensity of clectric. field
(C) electric capacity, - {D) " electric flux
12. Tl guifs & arfen fnicad = 2
(A) =R Al W (B) il % IR W -
(C) el & HEY W (D) I % #fE IHaTA |
Capacity of any condenser does not depend upon
(A) shape of plates (B) size of plates
(C) charges on plates (D) distance between plates
13. T M 9ree s 91i@r 1-0 pF 21 38k B 2ft
(A). 1-11 & (B) 10 #H&X
() o feh (D) 1-11 ¥
24 / A/ XI11-5003-(31/40) Page 7 / 32
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The capacity of a spherical conductor is 1-0 pF. Its radius will be

(A)  1-11 metre (B) 10 metre

(C) 9km (D) 1-1lcm
14. Tt g &1 WAy g 8

Ay -1 B 0

C) 1 (D) 3

The dielectric constant of a metal is
A -1 B) 0
) 1 (D) infinity”
15. Frafafes § @ 919 w Guita g a9ee @ 2
(A) T, (B) €L
(C)e .. I H . = (D) A wdH. IRAH .

Which of the following is%blocked by a capacitor ?

(A) AC B) DC
(C) Both ACand DC (D) Neither AC nor DC
16. 40 W a1 60 W % T 9o 220 V &0 | W Id 2| 39 yfRy § srqum
. .
(A) 4:3 B) 3:4
€ 2:3 D) 3:2
24 /A/XII-5003-31/40) | Page 8 / 32
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18.

[ 117 ]

Two bulb
s of 4
OW and 60 W are connected to 220 V source. The

ratj i i
O of their resistances will be

Wl el B 3:4

W 2ES D) 3:2

e A 1 s 500 Q B\ 35 freg e 20fi
(A)  0-002 3ng-!

(B) 0-02 3w !
[C} S0 aﬁt[-l {D] 500 m'l
The resistance of any wire is 500 Q. Its electrical conductivity
will be
(A)  0-002 ohm™! (B) +0:02 ohm ™!
(C) 50 ohm™! (D) 500 ohm™!
n WOH Fiolus et Aofsh § qun 9% A wuE e R IR )
JfeeHaw qen =Faw WeRiy #1 9@ g
(A) % (B) n
€)r = @) n?
n

n equal resistors are first connected in series and then in parallel.

The ratio of maximum and minimum resistances will be

(A) 1 (B) n
n
© = D) n’
n
24 /A /XII-5003-(31/40) Page 9 / 32
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A o
10 favaurd ) quiRial ®1 &g & foru

(A} Hh dR &1 Y ufede agr &

(B)  3Hh a1 H YT ®) T A

(C) 3% aR ¥ um ) @gEn &M

(D) ¥ aR H dard agr avf

To increase the sensitivity of a potentiometer
(A} the cross-scction arca of its wire will have to be increased
(B) current in its wire will have to be decreased
(C)  current in its wire will have to be inereased
(D) | length of its wire will have.to'be increased
20. ¢ gl freis sl g vy wa @
(A) GAHH §&T § (B) AW E&T J
(C) . Tl G&w & (D) T B
Kirchholf's second law of electricity is related to
{A)  conservation of mass (B) consecrvation of charge

(C)  conscrvation of energy (D)  conservation of momentum

21 frofafea 4 & 7 e @7 6 dea 5 o 5@ 2 0

Al 2 (B)  asy/diey?
(C) gz ofopn - e (D) A /fer
[Z3/ATXIU 5003 prrea] Page 10 / 32
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Which . :
once nf 1h( {ﬂ”{)“'”]g 18 not a pdn“ “[ mﬂgn!‘Hti I_H‘I'd' »
(A)  tesla
(B)  weber/metre?
(C)

newton/amperc-metre (D)  newt on/ampere *
(hy €)7"2 %1 A 3

(A} 3 x 10° arft/Yavg (B) 3 x 10'° atft/gwvz
() 3 x10° udt/dwuz (D) 3 x 10% foft @z
The value of (Kg Eﬂ]'l’r2 is |

(A) 3 x loacm/second (B) _3.x lomcm/second

(C) 3x logcm/second (D) 3x 10%km/second

T G AR 85 B w9 {@l F GUERR T goag Ed e
e®, I v @ T B FeAFIA WA A G

(A) euvB (B) ev/B
() I (D) Bv/e

An electron of charge e moves parallel to uniform lines of force in

magnetic field B with velocity v. Force acting on electron is

(A) evB (B) ev/B
(C) zero (Dy Bv/e
[24 A/ X11-5003-(31/40)| Page 11/ 32
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25

[ 117
aum faan § wHE 9 @ Mfaue seegE T g9 i wepfa gft
(A)  ABE (B) g
(C) HIART (D) %M 8 =i T

The nature of electron beams moving with uniform velocity in the

same direction will bebsebresult.in

(A) converging (B) diverging
(C) parallel (D}  none of these

gmﬁméa(ﬁ)ﬁ%ﬁ{;)wwmwwmagﬁm

SA-3M (¢ ) 1AW B R

- — - —
(A) t=mxB B), = xm

© =

-l

3wl W

(D)

wHER

The value of torque (t ) experienced by current loop of magnetic

moment (m ) placed in magnetic field (B ) is

(
(A} t=mxB B, 7=Bxm
(€) ?:-’Z—‘ (D) ?:é
B m
Wi F1 S.1. U 2
a F=(C) ® @ (v)
(C) 3MH(K) Q) & (H)

24 | A/ XII-5003-(31/40)
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[ 117 ]
S.1. unit of self induction ia
(A)  coulomb (C) B)  volt (V)
= RbE ) (D) henry (H)
27 W% @ Pl e R g & 8 dem w0 T TR dem T A 8
Wi whe (B) IEwfed
6} P (D) @ HE
On oscillating any metallic sphere in the magnetic field, its
oscillatory motion is
(A)  Accelerated (B)» “Damping
(C) Uniform (D) None of these
b8 A % wr @i fgia saia 2
(A) U F FeFEIE R (B W-WW“
©) @ geehed T (D) SRd gr’T W
The working principle of dynamo is based on
(A) heating effect of current
(B) cleétromagnctia induction
(C) induced magnetism
(D) induced current
—_ [5_4/!’&/)([!-500313”40, Page 13 / 32
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ve 47 areres & P v% qws fm ) gies 0 win s £ o THA 3
afe

3

Al &ad gus nfasfia B

(B) &Id e nfavhE A

(C) qws 3 T g1 nfeefie &

(D) 9% AR I & d9 mifw TR A

A magnet is situated near a closed conductor. Current can be

produced in the conductor, if
(A)  only magnet is in motion

-

(B)  only conductor is in motion
(C)  both magnet and-eonductor are in motion

(D} there is relative motion between magnet and conductor

30. = FEeht Aeaier § oW urq o waEed 2
(A) fagg(0)% (B), iy (R)%
(C) T=$E &7 (B)H (D) ¥ | F1§ 7
The value of current obtained in a moving coil galvanometer is
proportional to
(A)  deflection {(0) (B)  resistance ( R)

() magnetic hield ((B) (D) none of these

SR — e

[_{-llfﬂfﬁ;ll-i:{lthl ut,mml Page 14/ 32
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c Eﬁﬁﬁrﬁaﬁymﬁiﬁﬁﬁﬂﬁm STl R
(A), "9EE § fre uhry (B) #oft § 3= wfaqw
(C)  =oft 8§ i yfidly (D) @RI § 3= gy
A galvanometer is converted into ammeter by adding
(A)  low resistance in parallel
(B)  high resistance in series
(C) low resistance in series
(D)  high resistance in parallel
32.  YRETE geha Feell % Hg W ITA FEHT & Tl 2
(A) Husell & ad | (B), FUSS & At & TeEq
(C) FUSeht had ¥ 45°W (D) Fuselt & 9 ¥ 180° |
The magnetic field pmduced at the centre of current carrying
circular coil is
(A) on the plane of coil
(B) perpendicular to the plane of coil
(C) at4d°to the plane of coil
(D)  at 180° to the plane of coil
- 24 /A / XI1-5003-(31/40) Page 15/ 32
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mﬁ(mf{raﬁamméwaﬁ‘lmﬁ%mmmnmgmﬁh
HTEA W TAF TH F1 37gW Ay

M M
Ay — B) —

n n-
() -2“% D)  Mxn

On dividing any magnet of magnetic moment ( M) parallel wo its

length into n equal pieces, the moment of cach piece will be

w A ® 3

@ X (D), Mxn
Frefafiga 3 @ o9 ey weifas@ ¥ 5

(A) TR Y (B «‘ﬁ%ﬂwﬁa g
(C)  wiagrashia ver D) T F FE TE

Which of the following shows hysteresis ?

(A) Paramagnetic materials (B) Ferromagnetic materials

(C)  Diamagnetic materials (D) None of these

Yd Jeetdl m A rgll W g fave &1 wm B 2

Ho m Hom
{A] 4n T (B] 4n ;p"'2
Hyo m D
€} == (D) =
4?[ r‘

24 / A/ X11-5003-(31/40)
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36.

o

The value of m

mis
Mo m
o e ® fem
e %%:n% (D)  zero
SR B w1 3eqy HAT R ?
A) 3T um (B) 3I= Sleear
(C) 31?1 qra (D) 9. diwear

What is produced by induction coil ?.

(A)  High current (B)~ " High voltage
(C) Low current (D) Low voltage
T=EE 83 B #1 5ol g B &
(A) ‘QBEE' (B) %

2 2
© —4‘?1—0- (D). 3‘%;

2 2

Ay B B B
2].10 IJ-U

5 p B2

(C) i (D) 3y

(117]

ABNCUC potential 4l a distance r from a pole strength

24/A/ XII-SOOS-__[31;40:|
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A

qren 2 7
W AR AT Ut g SREd] umn & @ ar Hr Al

(A) T OH (B) ¥EA qH

(C). ¥ ¥fwA ant o (D) & # S A

What value of alternating current is measured by hot yj,,
ammeter ?

(A)  High value (B) Average value

(C) Root mean square value (D) None of these

39. afe ds S=we @iy W gl &3 B daad #, a9 ds &9 W gEdn

Sad g
(A} Bdscos0 (B) Bds'sin0
(C) Bds tan0 Dy =

— -
If magnetic field B s perpendicular to surface area vector ds,

then the magnetic flux on ds area will be

(A) Bds cos8 (B)

Bds sin0
(C) Bdstan® (D)  zero
40. yiaewn =1 9= S 2
(A) 30w B =
(c) &l (D) e
Unit of reactance is
(A)  ohm (B) tesla
{C) henry (D)  farad

3

24 /A XI1-5003-31/40)
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+1. “@ﬁﬁﬂma?ﬁumwmwmqﬁmg
(A} 1 (B) é
€ 21 D) =
Mean value of alternating current in a full cycle is
(A) 1 (B) %
(C) 21 (D) zero
42. AR senedl urn e faan. @@ % i FER o @, 9 wRE IR w1 AE
T 2
(A). cos¢ (B) cos?¢
(C) sinég (D) _ tan¢
If the phase difference betwéen alternating current and e.m.f. is ¢,
then the value of power factor is
(A)e cosd (B) cos?¢
(C) sing (D) tan¢
43.  AcUfuy # v Foe =9 gl 2
A), ufeyd (B) el H
(C) i # (D), ¥ & oft
In AC circuit, power is lost in only
(A) resistance (B) inductance
(C) capacitance | (D) all-of these
24 /A /X11-5003-(31/40) Page 19 / 32
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45.

46.

[ 117

T SArad faga ar & &fiew | = 06 sin 100 nt 3 FEITA R) g

uth A mfv 2
(A) S0mn (B)
(C) 100 = (D)

S0

100

An alternating electric current is represented by equation

1 =06 sin 100 nt. The frequency of alternating current is

&) 50 (B)
(C) 100 (D)
e S  sawaw sy A
(A) DC B)
(C) Dcaw Ac 3 (D)

Current used in eléctroplating is

S0

100

AC
FH W 1S T

AC

none of these

I qdor |
HAITA &G D

convex mirror

(A)  DC (B)
(C) both DCand AC (D)
a5 | 1 I wffi s 2
(A)  FEde o @ (B)
(C) HHdw gIw A (D)
A large virtual image of object is formed by
(A) concave mirror (B)
(C) plane mirror (D)

concave lens

24 /A /XII1-5003-(31/40

Page 20 / 32
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N *'Wmm-qampyiimmﬂ“ﬁm
P

A L .
P) B =l

(C) PLxP 5 P]
2 (D) P +P

2
Powe ;
rs of two lenses kept in contact, are P, and F,. The power of

equivalent lens will be
P

Sl ® 2

€) Rxp (D) P +P,
18. %Hiﬁﬁﬁtn%aiﬁa;q—@m—g?

(A) (B). de

(C) e (D) &=

The wavelength of which colour is minimum ?

(A) Violet - (B) Yellow
(C) Blue (D) Red
49. wguy 1 fFmfor form RO g @ 2

(a)  foda (B) b

(C)  3TgEcH (D)  aof-fagqor
Which causes the formation of rainbow ?

(A) Diffraction (B)  Scattering
(C) Refraction (D) | -Dispersion

[24/A/X11-5003-(31/40)] Page 217 32
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50. T gEre § widfera s 2

(A) AT @ Hn (B) aTEAfe g I

(C) 3wl 3N e (D) e T E

Image formed in compound microscope 1s

(A)  real and erect (B) realand inverted

(C) virtual and inverted (D) virtual and erect

51. WA % it 6 W = R g & I wfafna g 2

(A) STfe IR ST (B), arEfas Gt
(C) I IR H (D) €. Il T I
Image of any object forfned at the retina of human €ye is
(A) real and int..'erted (B) real and erect
(C) virtual and erect (D) virtual and inverted

sy Iad o o sHEER R S @

(A] FeegEavd @) &g QA

) wug®aud (D)  fagehar A

Convex lens is used in

(A) short-sightedness (B) long-sightedness

(C) presbyopia (D} astigmatism
[247A/X11-5003-31/40) Page 22/ 32
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T fien a3 4 — J
(A).  safagmo

By, ushiof:
C)  fyads |

(D} yau

The coloyy of sky is blye due to

(A} interfe
r N
ence (B)  scatlering
(€} di i
ifraction (D) polarisation
QA Fe

~HEE W 3 By ¥ s § G 6 e g 2
A wled Fwmd ) wne § s
(€)oot & & Wt (D) iAo % syeEEI

The fringe width in interferénce“of light due to two coherent

sources is

(A)  proportional to wavelength

(B) inversely proportional to wavelength
(C) proportional to square of wavelen gth

(D) inversely proportional to square of wavelength

@aﬂﬁm%aﬁﬁm—mﬁaﬁi,aﬁm

(a) derard @ (B) AW EHF B

) e g g (D) ¥4 8 HKE T

Two SOUrces of monochromatic light is coherent, when their
(A) intensities arc equal (B) amplitudes are equal
(C) phascs are equal (D) none of these

24 /A /XI1-5003-(31/40
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5o, gl-wiel aueH B

A)  A=hmy (B). }.=;%

(C) l=—-m-5—2 (D) A=hv

de Broglie wavelength is

(A) A=hmv (B) l=;?; ;

(C) k=ﬂf—2 (D) A=hv
57. A A nuiE 8

(A) O % TERPE A R (B - ST W

(C) o0& FEehd YWE | (D) faga-grash I T

Photocell is basedl on |

(A) chemical effect.of current

(B)  photo-electric effect

(C) magnetic effect of current

(D) electro-magnetic induction
58. *urg fontol g @

(A), R B) WH %

© FHH (D) WA %

Cathode rays are group of

(A) electrons _{B] protons

(C) neutrons (D) atoms

24/ A/ X11-5003-(31/4q) Page 24 / 32
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59. edrafoy e ) Y -377g 3

[117 ]

(A) 06931 x A (B) log10*

A
) 06931 D) FHraa Iy

A 0-6931
Half-life of radioactive substance is
2
(A) 06931 x A (B) log£0
0-6931 Average age
G 2 ===
© A (D) 06931
60. & TN &I S.I. THE B

(A) HiX (B) &I
() wfg Hfirx (D) > Tfex 2
S.I. unit of decay constant.is
(A) metre (B) hertz

2

(C}) per metre (D) metre

61. oo Th? & T T A =g 6l et
(A) 320 . (B) 230
(C) 140 | (D) 90

i : : 230 .
Number of neutrons in an atom of gOTh is

(A) 320 (B) 230
(C) 140 (D) 90
6. PN G g &1 ITE Hd & Th
(A) TaH® 6 @ (B) et Hl aiE
(C) HEHR HITE D) el H @
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63.

64.

65.

P-N junction diode is used as
(A)  an amplifter (B) an oscillator

{C) a modulator (D) a rectifier

fFrasht dieew / uTg #) SN IS 99 H HEd 8

A A (B) YT
(C) TE - (D) fewsr
Instrument used to increase input voltage/current is called
(A) oscillator (B) amplifier
(C) diode (D) reetifier

1117

afe foreft oo gr & Friw (v ) o 96 Suss ot el S T (AL B) ®

WTH BT € dl 98 gN &
(A) » AND (B) OR
(C) NOR (D) NOT

If in a logic gate output ( Y') is obtained by the product of its both

inputs ( A . B), then the gate is bsebresult.in

(A) AND - (B) OR
(C) NOR (D) NOT
Frgare § affa A HqUe B HeR g 2
(A) 1eV (B} 1l0ev
(C) 100eV (D).  0-01 ev
|24 /A /X11-5003-(31/30; ] Page 26
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A 7]

The wi :
idth of forbidden cnergy gap in the semiconductor is

approximatcly

A Tev (B) 10eV
(C) 100ev (D) 0-01eV
66. @IS 3 Tgh B den 27 H Ranurd sgf § suged gen wrl
(A) (10011}, (B) (10111),
(C). (11001}, (D) (11011),
The equivalent number of dcimal number 27 into binary number
system will be
(A) (10011), (B) (10111),
(C) (110011, (D) (11011},
67. t{ﬂﬁiﬂwfi,ﬂﬁﬁﬁﬂﬂqﬁTSOHz%;ﬁﬁﬁqﬂﬁﬁlﬁTﬁ
(A) 25Hz (B) SO Hz
(C) 100 Hz (D) 200 Hz
[n full wave rectifier, if input frequency is 50 Hz, then output
frequency will be
(A) 25 Hz (B) 50 Hz

(c) 100 Hz (D) 200 Hz

[;!4;’1'\;’){“- 50023 (31/40)
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68.

69.

70.

|51?|
ﬂﬁﬂaﬁmﬁwwﬁﬁwaﬂmwmaﬁm%
(A} R

B) R
(C) wwH _ D) %
The device which works of both modulation and demodulation is
called
(A} Laser | (B) Radar
(C} Modem (D) Fax
waT T9UE Y gul i wag @ g @
(A) 36000 f&sft (B) _« 36000 H
() 3600 e (D) 36000 Hi

Distance of communication satellite from the surface of the earthis

(A) 36000 km (B} 36000 mile
(C}) 3600 km (D) 36000 metre
i @ urgA fea s @

(A) @ B) e i

c, =# (D) W=

Attenuation is measured in

{A) ohm {B)  decibel
(C) mho (D}  siemen
24/ A/ X11-5003-(31/40) % g;—_ggr""

by:BSEBResult.In



[117]

Each question carries 2 marks -

1. %Fﬁ%gmﬁqa%aaﬁﬁwaﬁm&ﬁmmsl 2

Define i : ;
.me Intensity of electric field at any point. Write down its S.I.
unit.

Wﬁ'ﬁ‘m%mzx10‘6cm%gawwwa§3%ga@“m%’

I8 ¥ fria Y2 wormw fram 2 o 2

An electric dipole of dipolétmoment 2 x 10 ®cm is kept inside a
closed surface. What will' be the net flux coming out from the
surface ?

3. 6 uF % qulie s fvaid 10 V& 20 v a3 W 3 wat § Ify 7
it 2

Find the increase in energy of a condenser of capacity 6 uF on
changing potential difference from 10 V to 20 V.

4. m@laﬂ—aﬂrﬁagﬁfﬁuwﬁﬁ%‘? gHI1 1 TH-Th I dfdm)

1Aa .0
What are ohmic and non-ohmic resistances ? Write down one

example of both. -

5. foem b atl w1 8 2 Fafa § g3 an R Sl wfnk ww @ 0

1+1
What is electromagnetic wave ? On which factors does its velocity

in vacuum depend ?

[24 /A /XI11-5003-(31/401|
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10.

11.

| .

13.

14.

15.

16.

| 117 i
aTgaig &1 R 0 gwehl @) wirehwrd aATEe L+ vy
What is cyclotron ? State its two limitations:
geefl % @ b aw it afonfia H L+
Define two magnetic elements of the earth.
et um w1 R 2 geht Iwfiend ferfanl I |
What is eddy current ? Write down its utilities.

TGt i BTl St-gf @ fad | 2
Write down energy-losses in transformer. .

ST % Yt St FHEE | 2
Explain polarisation of light. ,
FifiE FI F1 R 2 THH HEWES Wd ford | 1+
What is critical angle ? Write dowryits.nccessary conditions.

fdt amfaE avg W 1019 sdazh fem a1 &1 3@ TEG W I A A
oA Wi 2
10'° electrons are placed on an uncharged body. Calculate the
charge produced on the body.

p-2TEY AU n-TFY FGATAH H Il TE R - )
Mention the difference between p-type and n-type semiconductors.
sz % @ Iw w e
Write down two uses of shunt.

T o R ? 5
What is wattless current ? |

TSI -3 SIS T 8 7 THH Th 39 ford .

What is light-emitting diode (LED) ? Write down its one application

24 /A /XI11-5003-31/40) PR
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18.

19,

20.

ﬁiamnﬂéwulm ), &) anfs, womet § s2d ’
Convert binary number { 1101 ), into decimal system.
www Yl Fax 6l sqme &l e
Explain www and Fax.

; 2

rEe 3 Ay ger ot A gawl
and nuclear fusion.

Explain the difference between nuclear.fission
2

feat fraais #n @ 2 g A G
What is Rydberg constant ? Write down its unit,

#d 30T W9 / Long Answer Type Questions

sz:#zs#mhmi:&#snﬁ%mi:m&ﬁw

5 3% freifea & :
Question Nos. 21 to 26 areLong Answer Type

3 questions. Each question carries 5 marks :

21.

22.

23

ax5=15

Questions. Answer any
3x5=15

ﬁqaf%gaw%vﬁg?ﬁﬂfagaﬁ;w%éﬁﬁgmﬁg?ﬁuﬁmm

=i WTH i 5
What is electric dipole ? Find an expression for electric potential at
any pomt due to an electric dipole.

&1 SafaHl F1 8 ? m%ﬁﬁ%@%ﬁﬁﬂﬁﬁmﬁ?ﬂ@nﬁm

= T BT 5
What is interference of light ? Find an expression for fringe width
in Young's double slit experiment.

s 3 g <l 1 3T H A IR T F F I H I F .

Mention the defects of human vision and describe the method to

remove them.

24 /A /XI1-5003-(31/40) Page 31 / 32
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25.

26.

[117)
s, s aon e v % T # 5
Write the properties of diamagnetic, paramagnetic  and
ferromagnetic materials.
e 9 o X e 5.1, e Rl NG T, 1

e - P ) AR & Ry wee T F 5

: i i th ]
Define self-inductance and write its S.[. unit Find the self
inductance for a solenoid of N turns, length ! and radius 1.

p-n-p a1 n—p—njﬁ@ﬁmﬁﬁﬂﬂﬁiaﬂhaﬁl S
Describe with diagram the working method of pn-p and npn

transistors.

fdzre 9 & Tafda @afl s,
BETE YA, W95 T, , vsfie

ATfelm1es eraeae f3® Taufe gad
Uz UTat & ...

BSEBResult.In
fAffe w2 (I
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